6500m°/ h

2.2

3. 2kPa ,
0.039 0.041MPa
, 0.48 0.49MPa
98 %
99 % , ,

2.4

3.3kPa  9kPa , 195n7/ h

() : <1.5%x10°°
2.5

2000 9 26 '

) 99. 9995 %

. 26 -

1999 5 27 5 29
2
2 6500m°/ h
(m* h) 6500 > 6500
(%0,) >99.6 9.8
(m* h) 13000 13000
(x10"%0) <10 <5
(m% h) 160 >170
( %Ar) >99. 999 >99. 999
(m* h) 130 130
(%0,) >99.6 >99.8
(m* h) 80 80
(%10 %0) <10 <5
(kW m’Oy) 0.48 0.46
m/h 0 101 3kPa , :
3
(1) ,
6800 7000nT/ h, 130 200m?/ h
, 99. 8 %O,
(2 ,
0.48 0.49MPa
(3) i i
160m*/ h, 170m’/ h,
190 195m/ h
( : 2000-08-07)
Q/ WKF01 —2000
( )
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